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51~ titanic & # {8 » ¥ »# e FHL titanic_train {r titanic_test - &t £ * dplyr & #4250 glimpse 4 4
BAFPFHSE m@Rr FE s 2 g r R (A"H S F L s ERE)

library(dplyr)

#H#
## Attaching package: 'dplyr'

## The following objects are masked from 'package:stats':

filter, lag

## The following objects are masked from 'package:base':

intersect, setdiff, setequal, union

dim(titanic_train)

##[1] 891 12
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titanic_all <- (titanic_train, titanic_test)
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( , titanic_all$Name, value = TRUE)

## [1] "Brewe, Dr. Arthur Jackson"

## [2] "Aks, Mrs. Sam (Leah Rosen)"
## [3] "Rosenbaum, Miss. Edith Louise"
## [4] "Rosenshine, Mr. George (Mr George Thorne\")\
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(data = titanic_all, aes(x = Sex)) +
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(data = titanic_all

_all, aes(x = Sex, fill =
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glimpse(titanic_all)

## Observations: 1,309

## Variables: 12

## $ Passengerld <int> 1, 2, 3, 4,5, 6,7, 8,9, 10, 11, 12, 13, 14, 15,...

## $ Survived <int>0,1,1,1,0,0,0,0,1,1,1,1,0,0,0,1,0,...

## $ Pclass <int>3,1,3,1,3,3,1,3,3,2,3,1,3,3,3,2,3,...

## $ Name <chr>"Braund, Mr. Owen Harris", "Cumings, Mrs. John Bra...

## $ Sex <chr> "male", "female", "female”, "female", "male", "mal...

## $ Age <dbl> 22, 38, 26, 35, 35, NA, 54, 2, 27, 14, 4, 58, 20, ...

## $ SibSp <int>1,1,0,1,0,0,0,3,0,1,1,0,0,1,0,0, 4,...

## $ Parch <int>0,0,0,0,0,0,0,1,2,0,1,0,0,5,0,0, 1,...

## $ Ticket  <chr>"A/521171", "PC 17599", "STON/O2. 3101282", "1138...
## $ Fare <dbl> 7.2500, 71.2833, 7.9250, 53.1000, 8.0500, 8.4583, ...

## $ Cabin <chr>"", "C85", ", "C123", """, "E46", "", ", ", ...

## $ Embarked <chr>"s","C","S", "s", "s", "Q", "s", "s", "S", "C", ...
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ggplot(data = titanic_all, aes(x = Sex, fill = factor(Pclass))) +
geom_bar(position = ) +
ggtitle( )
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ggplot(data = titanic_all, aes(x = Sex, fill = factor(Pclass))) +
geom_bar(position = )
ggtitle( )
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## Warning: Removed 1 rows containing non-finite values (stat_boxplot).
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ggplot(titanic_all, aes(x = Fare, fill = factor(Pclass))) +
geom_density() +
theme_light() +

facet_grid(Pclass ~ ., scales = )

## Warning: Removed 1 rows containing non-finite values (stat_density).
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lineData <- titanic_train %>%
(Sex, Pclass) %>%

(SurvivedAvg = (Survived))
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2. group_by()
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3. summarise()
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Sex Pclass SurvivedAvg
female 1 0.9680851

female 2 0.9210526
female 3 0.5000000
male 1 0.3688525
male 2 0.1574074
male 3 0.1354467
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(data = lineData, aes(x = Pclass, y = SurvivedAvg, color = Sex)) +
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(aes(label = (SurvivedAvg,2)), nudge y = , show.legend = FALSE) +
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(data = titanic_train, aes(x = Age, y = Survived, color = Sex)) +
(alpha=0.2) +
(se = FALSE) +
(Pclass ~.) +
0+
(text = (size=30)) +
(values = c(

## "geom_smooth()" using method = 'loess'

## Warning: Removed 177 rows containing non-finite values (stat_smooth).

## Warning: Removed 177 rows containing missing values (geom_point).
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1. ggplot2 - hitp://docs.ggplot2.org/current/

2. dplyr - https://cran.r-project.org/web/packages/dplyr/vignettes/introduction.html
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